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Question Id : 92090624802 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)

Question Label : Comprehension

Russia's prime minister signed a set of agreements with China on Wednesday during a trip to
Beijing, describing bilateral ties at an unprecedented high, despite criticism of their
relationship in the West as the war in Ukraine drags on.

Prime Minister Mikhail Mighustin, the highest-ranking Russian official to visit Beijing
since Moscow sent thousands of troops to Ukraine in February 2022, held talks with Chinese
President Xi Jinping and Premier Li Qiang.

With the war in Ukraine in its second vear and Russia increasingly feeling the weight of
Western sanctions, Moscow is leaning on Beijing for support, far more then China on Russia,
feeding on Chinese demand for oil and gas.

The pressure from the West has shown no sign of easing, with the Group of Seven's
weekend declarations singling both countries out on a series of issues including Ukraine. The
(7 agreed to tighten sanctions against Moscow and urged China to press Russia to withdraw
its forces from Ukraine.

Sub questions

Question Number : 1 Question Id : 92090624803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | :  With the war in Ukraine in its third yvear and Russia increasingly
feeling, the weight of western sanctions, Moscow ig leaning on Beijing

for support.

Statement 11 : The pressure from the West has shown no sign of easing, with the
Group of Seven’s weekend declarations singling both countries out on a

series of issues including Ukraine.

In the light of the above statements, choose the correct answer from the options given helow :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement [l are incorrect
(3) Statement I is true but Statement II is incorrect
() Statement [ is false but Statement 11 is correct

Options :



92090698001. 1
92090698002. 2
92090698003. 3
92090698004. 4

Question Number : 2 Question Id : 92090624804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out one word substitution for the following phrase from the options given below.

‘Mever done or known before’

(1) Unprecedented (2) Unpronounceable
(3) Unprotected (4) Unquiet
Options :

92090698005. 1
92090698006. 2
92090698007. 3
92090698008. 4

Question Number : 3 Question Id : 92090624805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pact means:

(1) Oral agreement (2) Coherent understanding

{3) Written explanation (4) Formal agreement between parties
Options :

92090698009. 1
92090698010. 2
92090698011. 3
92090698012. 4

Question Number : 4 Question Id : 92090624806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Moscow is leaning on Beijing means:

(1)  supporting Beijing (2) depending on Beijing
(3)  giving support to Beijing (4) entered into a pact with Beijing
Options :

92090698013. 1
92090698014. 2
92090698015. 3
92090698016. 4

Question Number : 5 Question Id : 92090624807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure from West on Moscow has shown no sign of easing. The underlined phrase

means:

(1) Pressure is increasing.
(2) Pressure is decreasing.
(3) Pressure is continuing at the usual rate.

(4)  Pressure has become insignificant.

Options :

92090698017. 1
92090698018. 2
92090698019. 3
92090698020. 4

Question Id : 92090624802 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Russia's prime minister signed a set of agreements with China on Wednesday during a trip to
Beijing, describing bilateral ties at an unprecedented high, despite criticiam of their
relationship in the West as the war in Ukraine drags on.

Prime Minister Mikhail Mishustin, the highest-ranking Russian official to visit Beijing
since Moscow sent thousands of troops to Ukraine in February 2022, held talks with Chinese
President Xi Jinping and Premier Li Qiang.

With the war in Ukraine in its second vear and Hussia increasingly feeling the weight of
Western sanctions, Moscow is leaning on Beijing for support, far more then China on Russia,
feeding on Chinese demand for oil and gas.

The pressure from the West has shown no sign of easing. with the Group of Seven's
weekend declarations singling both countries out on a series of issues including Ukraine. The
(7 agreed to tighten sanctions against Moscow and urged China to press Russia to withdraw
its forces from Ukraine.

Sub questions

Question Number : 1 Question Id : 92090624803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement | :  With the war in Ukraine in its third vear and Russia increasingly
feeling, the weight of western sanctions, Moscow is leaning on Beijing

for support.

Statement [1 : The pressure from the West has shown no sign of easing, with the
Group of Seven's weekend declarations singling both countries out on a

series of issues including Ukraine.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
{(3) Statement [ is true but Statement I is incorrect

{4) Statement [ 15 false but Statement 11 is correct

Options :

92090698001. 1
92090698002. 2
92090698003. 3
92090698004. 4



Question Number : 2 Question Id : 92090624804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out one word substitution for the following phrase from the options given below.

‘Mever done or known before’

(1) Unprecedented (2) Unpronounceable
(3)  Unprotected (4) Unquiet
Options :

92090698005. 1
92090698006. 2
92090698007. 3
92090698008. 4

Question Number : 3 Question Id : 92090624805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pact means:

(1) Oral agreement (2) Coherent understanding

{3) Written explanation (4) Formal agreement between parties
Options :

92090698009. 1
92090698010. 2
92090698011. 3
92090698012. 4

Question Number : 4 Question Id : 92090624806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Moscow is leaning on Beijing means:

(1)  supporting Beijing (2) depending on Beijing
(3)  giving support to Beijing (4) entered into a pact with Beijing
Options :

92090698013. 1
92090698014. 2
92090698015. 3



92090698016. 4

Question Number : 5 Question Id : 92090624807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure from West on Moscow has shown no sign of easing. The underlined phrase
means:

(1) Pressure is increasing.
(2) Pressure is decreasing.
(3) Pressure is continuing at the usual rate.

(4) Pressure has become insignificant.

Options :

92090698017. 1
92090698018. 2
92090698019. 3
92090698020. 4

Sub-Section Number : 2
Sub-Section Id : 920906799
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090624808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct preposition to complete the following sentence:

| infer your statement that you are not willing to attend the conference;
(1)  from (2) with
(3) across 4) to

Options :

92090698021. 1
92090698022. 2
92090698023. 3
92090698024. 4

Question Number : 6 Question Id : 92090624808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Choose the correct preposition to complete the following sentence:

| infer your statement that you are not willing to attend the conference;
(1) from (2) with
(3) across (4) to

Options :

92090698021. 1
92090698022. 2
92090698023. 3
92090698024. 4

Question Number : 7 Question Id : 92090624809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelt word out of the given alternatives:

(1) Puerille (2) Puerile
(3) Puerrile (4) Purrile
Options :

92090698025. 1
92090698026. 2
92090698027. 3
92090698028. 4

Question Number : 7 Question Id : 92090624809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelt word out of the given alternatives:

(1) Puerille (2) Puerile
3) Puerrile (4) Purrile
Options :

92090698025. 1
92090698026. 2
92090698027. 3
92090698028. 4



Question Number : 8 Question Id : 92090624810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following sentence:

The plants and vegetation of a certain region.

(1 flora (2) fauna
(3) forest (4) wvegetation
Options :

92090698029. 1
92090698030. 2
92090698031. 3
92090698032. 4

Question Number : 8 Question Id : 92090624810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following sentence:

The plants and vegetation of a certain region.

(1 flora (2) fauna
(3) forest (4) wvegetation
Options :

92090698029. 1
92090698030. 2
92090698031. 3
92090698032 4

Question Number : 9 Question Id : 92090624811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence.

(1) | asked Anita if she had done all sums.
(2) | ask Anita if she do all sums.
(3) | asking Anita if she had done all sums.
(4) | asked Anita if she done all sums.
Options :
92090698033. 1
92090698034. 2

92090698035. 3
92090698036. 4

Question Number : 9 Question Id : 92090624811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence.

(1) | asked Anita if she had done all sums.
(2) | ask Anita if she do all sums.
(3) | asking Anita if she had done all sums.
(4) | asked Anita if she done all sums.
Options :
92090698033. 1
92090698034. 2

92090698035. 3
92090698036. 4

Question Number : 10 Question Id : 92090624812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive form of the following sentence.
Do you imitate others?

(1)  Have others been imitated by you?
(2)  Have others being imitated by you?
(3)  Are others imitating you?

(4)  Are others imitated by you?



Options :

92090698037. 1
92090698038. 2
92090698039. 3
92090698040. 4

Question Number : 10 Question Id : 92090624812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive form of the following sentence.
Do you imitate others?

(1)  Have others been imitated by you?
(2)  Have others being imitated by you?
(3)  Are others imitating you?

(4)  Are others imitated by you?

Options :

92090698037. 1
92090698038. 2
92090698039. 3
92090698040. 4

Question Number : 11 Question Id : 92090624813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry of India launched ‘Temple 360° portal?

(1) Ministry of Tourism

(2)  Ministry of Culture

(3)  Ministry of Housing and Urban Affairs
(4) Ministry of Home Affairs

Options :

92090698041. 1
92090698042. 2
92090698043. 3
92090698044. 4



Question Number : 11 Question Id : 92090624813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry of India launched ‘Temple 360° portal?

(1) Ministry of Tourism

(2) Ministry of Culture

(3) Ministry of Housing and Urban Affairs
{4) Ministry of Home Affairs

Options :

92090698041. 1
92090698042. 2
92090698043. 3
92090698044. 4

Question Number : 12 Question Id : 92090624814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Guidance’ is the investment promotion agency of which Indian state?

(1 Tamilnadu (2) Gujarat
(3) Kerala (4) Delhi
Options :

92090698045. 1
92090698046. 2
92090698047. 3
92090698048. 4

Question Number : 12 Question Id : 92090624814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Guidance’ is the investment promotion agency of which Indian state?

(1 Tamilnadu (2) Gujarat
(3) Kerala (4) Delhi
Options :

92090698045. 1



92090698046. 2
92090698047. 3
92090698048. 4

Question Number : 13 Question Id : 92090624815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not a Noble Price winner?

(1) Ravindranath Tegore (2) Dr.CV.Raman
(3) Amritaya Sen (4) Homi Jahangir Bhabha
Options :

92090698049. 1
92090698050. 2
92090698051. 3
92090698052. 4

Question Number : 13 Question Id : 92090624815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not a Noble Price winner?

(1) Ravindranath Tegore {2) Dr.CV.Raman
(3)  Amritaya Sen (4) Homi Jahangir Bhabha
Options :

92090698049. 1
92090698050. 2
92090698051. 3
92090698052. 4

Question Number : 14 Question Id : 92090624816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which country is not the member of 'G 207

(1) India (2) Nepal
(3) China (4) USA.
Options :

92090698053. 1
92090698054. 2
92090698055. 3
92090698056. 4

Question Number : 14 Question Id : 92090624816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country is not the member of 'G 207?

(1) India (2) Nepal
(3) China (4) USA.
Options :

92090698053. 1
92090698054. 2
92090698055. 3
92090698056. 4

Question Number : 15 Question Id : 92090624817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List |
{Dance Form)

List Il
(Artist)

(A) Bharat Natyam ()  Sonal Mansingh
(B) Kathak () Rukmini Devi
(C) Kuchipudi (1) Birju Maharaj
(D) Odissi (IV) Yamini Reddy

Choose the correct answer from the options given below:

(1) (A=), B)-(1), (O)-0). (D)-(IV)

(2) (A=), (B)-(1), (C)-(1V), (D)-(1)

(3) (A0, (B)-(I), (C)-(1), (D)-(IV)

(4) (A=), (B)-(), (C)-(), (D)-(IV)
Options :

92090698057. 1
92090698058. 2
92090698059. 3
92090698060. 4

Question Number : 15 Question Id : 92090624817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List I
(Artist)

List |
{Dance Farm)

(A) Bharat Natyam ()  Sonal Mansingh
(B) Kathak ()  Rukmini Devi
(C)  Kuchipudi (1)  Birju Maharaj
(D) Odissi (IV) Yamini Reddy

Choose the correct answer from the options given below:

(1) (A-am), (B)-(1), (O-(), (D)-(IV)
(2) (A=), (B)-(lIT), (C)-(IV), (D)-(I)
(3} (A=, (B)-(I), (C)-(1), (D)-(IV)
(4) (A, (B)-(1), (C)-(), (D)-(IV)



Options :

92090698057. 1
92090698058. 2
92090698059. 3
92090698060. 4

Question Number : 16 Question Id : 92090624818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code BROTHER is written as EQRSKDU. How is RECENT written in that code:

(m UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090698061. 1
92090698062. 2
92090698063. 3
92090698064. 4

Question Number : 16 Question Id : 92090624818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

in a certain code BROTHER is written as EQRSKDU. How is RECENT written in that code:

{1 UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090698061. 1
92090698062. 2
92090698063. 3
92090698064. 4

Question Number : 17 Question Id : 92090624819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the word which is least like others in the group:

(1) Bat (2) Artic Term
(3) Ostrich (4) Penguin
Options :

92090698065. 1
92090698066. 2
92090698067. 3
92090698068. 4

Question Number : 17 Question Id : 92090624819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the word which is least like others in the group:

(1) Bat (2) Artic Term
(3) Ostrich {4) Penguin
Options :

92090698065. 1
92090698066. 2
92090698067. 3
92090698068. 4

Question Number : 18 Question Id : 92090624820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Astha, Bina, Chetna, Devika, Eshita and Falguni are sitting in a row facing
towards North. Chetna is not sitting beside Devika who is sitting on the extreme right.
Eshita is between Astha and Chetna. Astha is not sitting beside Falguni and Devika. Bina is
between Falguni and Devika. Who is the immediate right of Astha?

(1 Bina {2) Chetna
(3) Eshita (4) Falguni
Options :

92090698069. 1
92090698070. 2
92090698071. 3
92090698072. 4



Question Number : 18 Question Id : 92090624820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Astha, Bina, Chetna, Devika, Eshita and Falguni are sitting in a row facing
towards North. Chetna is not sitting beside Devika who is sitting on the extreme right.
Eshita is between Astha and Chetna. Astha is not sitting beside Falguni and Devika. Bina is
between Falguni and Devika. Who is the immediate right of Astha?

(n Bina (2) Chetna
{3) Eshita (4) Falguni
Options :

92090698069. 1
92090698070. 2
92090698071. 3
92090698072. 4

Question Number : 19 Question Id : 92090624821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Look at the series: 1296, 648, 216, 108, 36, ...

Which one of the following numbers should come next in the series?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090698073. 1
92090698074. 2
92090698075. 3
92090698076. 4

Question Number : 19 Question Id : 92090624821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Look at the series: 1296, 648, 216, 108, 36, ..........

Which one of the following numbers should come next in the series?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090698073. 1
92090698074. 2
92090698075. 3
92090698076. 4

Question Number : 20 Question Id : 92090624822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vijay from the left side of the row is 16" and the
position of Vijay from the right side of the row is 28" Find the total number of students in
the row?

(1) 42 (2) 43
(3) 44 (4) 45
Options :

92090698077. 1
92090698078. 2
92090698079. 3
92090698080. 4

Question Number : 20 Question Id : 92090624822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vijay from the left side of the row is 16" and the
position of Vijay from the right side of the row is 28" Find the total number of students in
the row?

(1) 42 (2) 43
(3) 44 (4) 45
Options :

92090698077 1
92090698078. 2



92090698079. 3
92090698080. 4

Question Number : 21 Question Id : 92090624823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train 220 m long in moving at 54 km/h. Time taken by it to cross a person running in the
same direction with speed of 18 km/h is:

(1) 30s (2) 20s
(3) 25s (4) 22s
Options :

92090698081. 1
92090698082. 2
92090698083. 3
92090698084. 4

Question Number : 21 Question Id : 92090624823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train 220 m long in moving at 54 km/h. Time taken by it to cross a person running in the
same direction with speed of 18 km/h is:

(1) 30s (2) 20s
(3) 25s (4) 22s
Options :

92090698081. 1
92090698082. 2
92090698083. 3
92090698084. 4

Question Number : 22 Question Id : 92090624824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the such rate of Interest, the ratio of amount for one year under simple interest and
for two years under compound interest compounded annually is 3:4. Find the rate of
intrest:

X
(1) 15% % (2) 20%
3) 33% % @) 30%

Options :

92090698085. 1
92090698086. 2
92090698087. 3
92090698088. 4

Question Number : 22 Question Id : 92090624824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the such rate of Interest, the ratio of amount for one year under simple interest and
for two years under compound interest compounded annually is 3:4. Find the rate of
intrest:

X
(1) 15? % (2) 20%
3) 33% % @ 30%

Options :

92090698085. 1
92090698086. 2
92090698087. 3
92090698088. 4

Question Number : 23 Question Id : 92090624825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A and B are the independent events such that P(AUB) = % and P(B)= g .Then P[4}

is equal to:
3 4
1 = P
(1) 2 (2) 3
1 3
3 - 4) =
(3) 5 (4) 3
Options :

92090698089. 1
92090698090. 2
92090698091. 3
92090698092. 4

Question Number : 23 Question Id : 92090624825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B are the independent events such that P(AuB)= % and P(B)= g .Then P(A)

is equal to:
3 4
1 = 2) =
(1) 2 (2) 5
1 3
3 = 4 =
(3) 3 (4) 5
Options :

92090698089. 1
92090698090. 2
92090698091. 3
92090698092. 4

Question Number : 24 Question Id : 92090624826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 3x+4y = 60 and 4x+3y = 59, then the value of x+y is:

(1 17 (2) 15
(3) 16 (4) 18

Options :



92090698093. 1
92090698094. 2
92090698095. 3
92090698096. 4

Question Number : 24 Question Id : 92090624826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 3x+4y = 60 and 4x+3y = 59, then the value of x+y is:

(1) 17 i2) 15
(3) 16 (4) 18
Options :

92090698093. 1
92090698094. 2
92090698095. 3
92090698096. 4

Question Number : 25 Question Id : 92090624827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sphere of maximum possible size is made out of a solid woodern cylinder of height
equal to its diameter of the base. The percentage of the wastage of the wood in the
process Is:

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090698097. 1
92090698098. 2
92090698099. 3
92090698100. 4

Question Number : 25 Question Id : 92090624827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sphere of maximum possible size is made out of a solid woodern cylinder of height
equal to its diameter of the base. The percentage of the wastage of the wood in the
process is:

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090698097. 1
92090698098. 2
92090698099. 3
92090698100. 4

Part B: Ancient Indian History

Section Id : 920906492
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : |
Sub-Section Id : 920906800
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090624828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first person to periodize Indian history?
1. Richard Jones
2. Henry Maine
3. James Mill
4. M. Elphinstone
Options :

92090698101. 1
92090698102. 2



92090698103. 3
92090698104. 4

Question Number : 26 Question Id : 92090624828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA 38T & S1awH # die aral uyHd dgm &1 ure
1. fEs E=

2. e HA

3. W fHa

4. UH. Uafth-~HeH
Options :
92090698101. 1
92090698102. 2

92090698103. 3
92090698104. 4

Question Number : 27 Question Id : 92090624829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which historian emphasised the cultural supremacy of the brahmanas and

also highlighted the harmony that prevailed in early Indian Society?
1. V. A Smith
2. K. A. Nilakanta Sastri
3. R. G. Bhandarkar
4. Rajendra Lal Mitra

Options :

92090698105. 1
92090698106. 2
92090698107. 3
92090698108. 4

Question Number : 27 Question Id : 92090624829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698105. 1
92090698106. 2
92090698107. 3
92090698108. 4

Question Number : 28 Question Id : 92090624830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): D. D. Kosambi blazed a new trail in Indian History.
Reason (R): His treatment follows a materialistic interpretation of history.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of

(A)
3. (A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090698109. 1
92090698110. 2
92090698111. 3
92090698112. 4

Question Number : 28 Question Id : 92090624830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698109. 1
92090698110. 2
92090698111. 3
92090698112. 4

Question Number : 29 Question Id : 92090624831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il
LIST | LisT
A. |D. D. Kosambi |. History and Culture of the Indian People

The Civilization of Ancient India in Historical
Outline
C. |R. C. Majumdar lll. Hindu Polity
D. K. A, Nilakanta Sastri | IV. |A History of Ancient India
1. A-ll, B-IV, C-lil, D-1
2. A-ll, B-lll, C-1, D-IV
3. A-l, B-li, C-I, D-IV
4. A-lll, B-Il, C-Iv, D-I

B. [K. P. Jayaswal Il.

Options :

92090698113. 1
92090698114. 2
92090698115. 3
92090698116. 4

Question Number : 29 Question Id : 92090624831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tt - 1 &1 gt - 1 & 9y e S

R | uelll
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B. [&. Ul. SraHard I, R

C. BR. UL AHER | . @] Wiferdt

D. [&. U tadaardl | Iv. [u iR offth waiRm= 3igan

A-ll, B-IV, C-lll, D-I

A-l1, B-1II, C-1, D-1V

A-l, B-llI, C-Il, D-IV

A-llL, B-11, C-1V, D-I

il ol B

Options :

92090698113. 1
92090698114. 2
92090698115. 3
92090698116. 4

Question Number : 30 Question Id : 92090624832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following deals with the diagnosis and treatment of the major
diseases of elephants?

1. Hastyayurveda

2. Shrangadhara Samhita

3. Ashtangahridaya

4. Sushurta Samhita

Options :

92090698117. 1
92090698118. 2
92090698119. 3
92090698120. 4

Question Number : 30 Question Id : 92090624832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698117. 1
92090698118. 2
92090698119. 3
92090698120. 4

B oM

Question Number : 31 Question Id : 92090624833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order:
A. Sushruta Sambhita
B. Ashtangahridya
C. Kashyapas Compendium
D. Charak Samhita
E. Sharngadhara Samhita
Choose the correct answer from the options given below:
L BALERE
2. CDABE
3. D.ABCE
4. DA CEB
Options :
92090698121. 1
92090698122. 2

92090698123. 3
92090698124. 4

Question Number : 31 Question Id : 92090624833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698121. 1
92090698122. 2
92090698123. 3
92090698124. 4

Question Number : 32 Question Id : 92090624834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Mahayan doctrine of trikaya (three bodies), the Nirmana-
kaya refers to:
1. The limitless forms that could be adopted by a Buddha to appear
before and teach the bodhisattvas for their enjoyment.
2. To preside over his own Buddha land.
3. Different forms assumed by the Buddha on the earth out of
compassion for people.
4. The ultimate and essential Buddhaness.

Options :

92090698125. 1
92090698126. 2
92090698127. 3
92090698128. 4

Question Number : 32 Question Id : 92090624834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698125. 1
92090698126. 2
92090698127. 3
92090698128. 4

Question Number : 33 Question Id : 92090624835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was not among the Indian monks or monks of
Indian origin who travelled to china?

1. Kumarajiva

2. Parmartha

3. Bodhidharma

4

. Cosmas

Options :

92090698129. 1
92090698130. 2
92090698131. 3
92090698132. 4

Question Number : 33 Question Id : 92090624835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698129. 1
92090698130. 2
92090698131. 3
92090698132. 4

Question Number : 34 Question Id : 92090624836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: A major success for Ajatshatru was his victory over the
Lichchhavis.
Statement II: Realizing that he would not be able to defeat them in direct
combat, Ajatshatru sent his minister Vassakra on an undercover mission to
slowly but surely create dissension within their ranks.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090698133. 1
92090698134. 2
92090698135. 3
92090698136. 4

Question Number : 34 Question Id : 92090624836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698133. 1
92090698134. 2
92090698135. 3
92090698136. 4

Question Number : 35 Question Id : 92090624837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il
LIST | LIST Il
A. [Kalidas | |. [Kiratarjuniya
B. Bhasa | Il. Mrichchakatika
C. Bharavi | Ill. |Dutavakya
D. [Shudrak] IV. [Kumarasambhav]
A-1V, B-Ill, C-lI, D-I
A-1V, B-Ill, C-1, D-1I
A-lll, B-IV, C-lI, D-I
A-1, B-II, C-1V, D-lII

il o

Options :

92090698137. 1
92090698138. 2
92090698139. 3
92090698140. 4

Question Number : 35 Question Id : 92090624837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tt 1 &1 1 F 91y e Sl
gt g 1l

A. [eroier| 1. [FRmssy
B. [HTH Il. (sl
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D. Rk | IV. [FHRE™A
A-IV, B-1ll, C-11, D-|
A-IV, B-1ll, C-1, D-I
A-Ill, B-IV, C-1I, D-|

A-l, B-1I, C-IV, D-1I

B i R

Options :

92090698137. 1
92090698138. 2
92090698139. 3
92090698140. 4

Question Number : 36 Question Id : 92090624838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following rulers started the Vikram Samvat or era?
1. Kanishka
2. Chandragupta - I
3. Chandragupta - |
4. Ujjain ruler called Shakari

Options :

92090698141. 1
92090698142. 2
92090698143. 3
92090698144. 4

Question Number : 36 Question Id : 92090624838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698141. 1

92090698142. 2

92090698143. 3
92090698144. 4

Question Number : 37 Question Id : 92090624839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The emblem of Indian nation state is based on:
The Sarnath capital

The Rampurva capital

The Sankissa capital

e L By e

The Vaishali capital

Options :

92090698145. 1
92090698146. 2
92090698147. 3
92090698148. 4

Question Number : 37 Question Id : 92090624839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090698145. 1
92090698146. 2



92090698147. 3
92090698148. 4

Question Number : 38 Question Id : 92090624840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The Satavahana rulers strove for the royal ideal set forth in
the Dharamashastras.
Reason (R): The Satavahanas retained some aspects of administrative
structures of Ashokan times.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of
(A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct

Options :

92090698149. 1
92090698150. 2
92090698151. 3
92090698152. 4

Question Number : 38 Question Id : 92090624840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698149. 1
92090698150. 2
92090698151. 3
92090698152. 4

BowoNp

Question Number : 39 Question Id : 92090624841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The peak of territorial expansion of Gupta empire was
reached during the reign of Chandragupta - I.
Reason (R): In inscriptions, he has the title maharajadhiraja, and such titles
henceforth became signifiers of imperial power and status.
In the light of the above statements, choose the correct answer from the
options given below:
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A)is true but (R) is false
4, (A)is false but (R) is true

Options :

92090698153. 1
92090698154. 2
92090698155. 3



92090698156. 4

Question Number : 39 Question Id : 92090624841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698153. 1
92090698154. 2
92090698155. 3
92090698156. 4

Question Number : 40 Question Id : 92090624842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The Chola military expeditions were sent to Srilanka, Malaysia
and Indonesia.
Reason (R): Their aim was to control important trade sectors.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both (A} and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of

(A)
3. (A)is correct but (R) is not correct

4, (A)is not correct but (R) is correct

Options :

92090698157. 1
92090698158. 2
92090698159. 3
92090698160. 4

Question Number : 40 Question Id : 92090624842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698157. 1
92090698158. 2
92090698159. 3
92090698160. 4
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Question Number : 41 Question Id : 92090624843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST [LisT 1

A. |Diodorus . |indika

B. |Strabo Il. |Geography

C. JArrian I1l. [Natural History

D. |Pliny V. |Librar}f of History
1. A-l, B-ll, C-IV, D-lI

2. A-IV, B-ll, C-l, D-llI
3. A-lll,. B-1, C-lI, D-IV
4. A-ll, B-1, C-ll, D-IV

Options :

92090698161. 1
92090698162. 2
92090698163. 3
92090698164. 4

Question Number : 41 Question Id : 92090624843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 &1 G 1 & | HeE S -

| SEll

A. [BAERY 1. Bfg®n

B. [T1dl I1. [SOTR®G]

c. gfma | FaRa el

D. [ | 1v. [ase it @]
1. A-l,B-ll, C-IV, D-lll
2. A-IV, B-ll, C-1, D-1ll
3. A-lll,. B-l, C-Il, D-IV
4. A-ll, B-l, C-ll, DIV

Options :

92090698161. 1
92090698162. 2
92090698163. 3



92090698164. 4

Question Number : 42 Question Id : 92090624844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A): The propagation of Buddhism promoted India's contact with
Srilanka, Myanmar, China and Central Asia.
Reason (R): Buddhist missionaries were sent to Srilanka in the 5" century
B.C.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R} are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of
(A)
3. (A)is correct but (R) is not correct
4. (A) is not correct but (R) is correct

Options :

92090698165. 1
92090698166. 2
92090698167. 3
92090698168. 4

Question Number : 42 Question Id : 92090624844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 g1 %Y §: TP ATYSTa (Assertion A) %Fﬂﬁﬁl@ﬁ%fﬁmm
BRI (Reason m%mﬁl

Assertion A ﬁi@ﬂﬁﬂiﬁﬁﬂ siieienT, AR, 94 ayT 7 U A HRA &
Tra=]l &1 fawR i

ReasonR : 5€|H€|§mqéﬁ?ﬂawaﬁwﬂanﬁf

IR Syl & U1 H A1 el 1 fqwed 7 § waifte Sugead I &1
HIfeTT

. ATUIRGFTHE! § TUIR, A D] TS AT B |

AT R G Hel & it R, AT Hel AT 78] 8

A TEl € Wl R T8I 6 o

A TEl 8] § i R T8 8

oW

Options :

92090698165. 1
92090698166. 2
92090698167. 3
92090698168. 4

Question Number : 43 Question Id : 92090624845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order:

=

Kalachala grant of king Ishvarata.
Allahabad Prashashti.

Inscription at Tambur.

Inscription of Shaka ruler Rudradaman.

m P p e

. Satvahana inscription recording land grants with tax-exemptions
Choose the correct answer from the options given below:

1. AED CandB

2 B D CEandA

3. ED A BandC

4. EADBandC

Options :

92090698169. 1
92090698170. 2
92090698171. 3
92090698172. 4



Question Number : 43 Question Id : 92090624845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad &1 Ul &1d HHHER Jafeyd $ife ;
A. AT ST DT DIl Sl

B. SoBlElg U

C. e BT A

D. Y& WS FxaHA B fHTE

E. rddred Sfficd foras #R-gc & 91y YsgH aftfd g
A9 el ) fosedf 9 IR g :

AE,D, CdylB

B,D,C,EdYIA

E,D,A BdUIC

E,A D BAYUIC

ol A

Options :

92090698169. 1
92090698170. 2
92090698171. 3
92090698172. 4

Question Number : 44 Question Id : 92090624846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | ST

A. Pandya l. [Tiger seated under a canopy.

B. [Cholas Il. |Vishnu seated with discus and conch.
C. Vijayanagar Il [Two fish under canopy.

D. |Padma-tanka | IV. |Eight—peta|led lotus

A-ll, B-1Il, C-I, D-IV
A-lll, B-l, C-ll, D-IV
A-ll, B-1, C-1V, D-1lI
4. A-lll, B-Ul, C-IV, D-

el b

Options :

92090698173. 1
92090698174. 2
92090698175. 3



92090698176. 4

Question Number : 44 Question Id : 92090624846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 &1 0 & 9y e Sife:

et Sl

A. [avsy I, [5T9 U Badl & -1d 931 ¢
B. [aTd II. [Eh Ud T & 1Y oS )
c. [asER . [@Fa3t & A 21 weterr

D. [dGH-EFI IV, |3Fqcl(eight-petalled) HT

1. A-ll, B-lll, C-I, D-IV
2. A-lll, B-l, C-II, D-IV
3. A-ll, B-l, C-1V, DIl
4. A-llI, B-ll, C-IV, D-I
Options :

92090698173. 1
92090698174. 2
92090698175. 3
92090698176. 4

Question Number : 45 Question Id : 92090624847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: In 1863, John Lubbock divided the Stone Age into two parts.
Statement Il: Edouard Lartet divided the palaeolithic into lower, middle and
upper, largerly on basis of changes in fauna.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement |l is true

Options :
92090698177. 1
92090698178. 2



92090698179. 3
92090698180. 4

Question Number : 45 Question Id : 92090624847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U -1 : 1863 H S Fd& = YN0 g7 61 &1 YT | faford faan)

U - 11 : GBIk i FHE W uRad & SR IR USds dlee A RIS SHid
&1, 7, aeg qur 3= ¥ faunford fasan)

IURiad &Y & U | Fafiied Reedl § 8§ 98t SR &1 994 S
Y- 1 AU FYT - 1 g Hel g |

FHUA- 1 U HYF -1 gH A 8 |

HY - | Tal g e HYT - 1 Ted 8

HUF - | TT60d & b1 B - 11 TS B

ol ol

Options :

92090698177. 1
92090698178. 2
92090698179. 3
92090698180. 4

Question Number : 46 Question Id : 92090624848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST I
A. |Lower palaeolithic | I. |Ffake tools
B. Middle palaeolithic| Il |M1'cr::rlithic5
C. Upper palaeolithic | lll. |F‘ebb|e and core tools
D. Mesolithic V. |Blade tools
1. A-ll, B-1Il, C-1V, D-I
2. A-ll, B-1vV, C-1, D-HI
3. A-ll, B-NI, C-I, D-1V
4. A-lll, B-l, C-Iv, D-lI
Options :

92090698181. 1



92090698182. 2
92090698183. 3
92090698184. 4

Question Number : 46 Question Id : 92090624848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 &1 G 1 S I e i
gl | SEIlL
A. ﬁ’HWTﬂTUT I Wﬁhﬁfﬂtﬂake-tnnlsj

B. [FE QRIGTSTOT | 1. [g&s Trem

C. [3= Ram | 1. [ Ud HR (Pebble and core) SER
D. HEIUTHETOT Iv. [Fee- 3R (Blade tools)

A-Il, B-Ill, C-1V, D-|

A-ll, B-IV, C-1, D=l

A-Ill, B-1I, C-1, D-1V

A-l11, B-1, C-1V, D-ll

o ol

Options :

92090698181. 1
92090698182. 2
92090698183. 3
92090698184. 4

Question Number : 47 Question Id : 92090624849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Bhimbetka hillside is composed of:
Sandstone and acidic soil
Sandstone and chert

Sandstone and quartzite

o By e

Sandstone and limestone

Options :

92090698185. 1
92090698186. 2
92090698187. 3
92090698188. 4



Question Number : 47 Question Id : 92090624849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiraesd! 1 ugrel AU &1 8
1. ST IYR IUT 3T HeT
2. SIS TR IYTHE (Chert)
3. ﬁmwwmﬁ{quamite]
4. SRR TYT A YR

Options :

92090698185. 1
92090698186. 2
92090698187. 3
92090698188. 4

Question Number : 48 Question Id : 92090624850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the archaeologist to notice the Bhimbetka rocks out of a train
window?

1. A C.L Carlleyle

2. V.5. Wakankar

3. Yasodhar Mathpal

4. Erwin Neumayer

Options :

92090698189. 1
92090698190. 2
92090698191. 3
92090698192. 4

Question Number : 48 Question Id : 92090624850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fohd qRIGEdT A U oA &l ass! ¥ indes! & yer] & @
. U ¥l ud. sraigd

. 9. UY. I

. TENER #3YTd

. i AT

Options :

92090698189. 1
92090698190. 2
92090698191. 3
92090698192. 4

= W R

Question Number : 49 Question Id : 92090624851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order:
First free-standing temple
Buddha represented by symbols
The Mathura style
Inscribed seals
Dravidian style
Choose the correct answer from the options given below:
1. A B C DandE
2. DB C AandE
3. DDA C EandB
4, EA CDandB

mgn @ F

Options :

92090698193. 1
92090698194. 2
92090698195. 3
92090698196. 4

Question Number : 49 Question Id : 92090624851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad &1 98l H1a HHTER afeid i
A. UYH Had =1fud (free-standing) TR

B. g &1 &gl A ufaffga

c. Ay

D. I vl Hard

E. Gfds Sl

Fafelad el 7 3 wel 3R &1 904 S,
A,B C.,DOYUTE

DB C ATUE

DA CEdYUIB

E,A C,DAYUTB

BowoN e

Options :

92090698193. 1
92090698194. 2
92090698195. 3
92090698196. 4

Question Number : 50 Question Id : 92090624852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): In the north India, the tenth and eleventh centuries saw the
building of many brahmanic temples.
Reason (R): Khajuraho was their principal centre.
In the light of the above statements, choose the correct answer from the
options given below:
1. Both (A) and (R) are true and (R} is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (R) is true

Options :

92090698197. 1
92090698198. 2
92090698199. 3
92090698200. 4



Question Number : 50 Question Id : 92090624852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%aﬁiﬂq% : Eﬁfﬂmﬁlﬁ{mSEﬂiﬂnA}a’TWﬁﬁﬁﬁ %ﬂ@:ﬂ?’lm
BRI (Reason H]?ﬁmﬂl

Assertion A : 3TR HRd T 10d] gyl 11§fmﬁmm{hrahmanic]
HfeR &1 A gan

Reason R : @981 376 UHE &% 4T

JURIad Ul & bt H e fad 1 [l & 4 9t 3w &1 904 Sl
A TUTR ST 1 € GUTR, A DI HE TSN |

AT R G Ug1 & Qb R, A DI HEl AN 5|

A Tl § Wi R 7T0d 2

AT & AP R TE B

bt A o o

Options :

92090698197. 1
92090698198. 2
92090698199. 3
92090698200. 4

Question Number : 51 Question Id : 92090624853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | LIST Il
A. [Ravana lifting Mount Kailasa | I. |Gupta (4" cent.)
B. Varaha IIl. [Chola (11" cent.)
C. [Kalya-Krishna ll. Vakataka (5" cent.)
D. [Kalyanasundra Shiva IV. |Pallava-chola (9" cent.)
1. A-lll, B-l, C-IV, D-
2. A-lll, B-Il, C-I, D-IV
3. A-ll, B-l, C-lll, D-IV
4. A-IV, B-I, C-llI, D-II
Options :

92090698201. 1
92090698202. 2
92090698203. 3
92090698204. 4



Question Number : 51 Question Id : 92090624853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G CUEIE; CIIEEICAE IS L

=l | SELRl

A. [pare udd ol guran] 1. [T (a2 @)

B. [ARTE I [@1d (1291 Ul)

C. [mifergr-gmon I, [@ThTeds (541 W)
D. [Py g Iv. [Ueerd =i (gdl |al)

1. A-lll, B-I, C-IV, D-ll
2. A-lll, B-ll, C-1, D=1V
3. A-ll, B-I, C-11l, D-1V
4. A-IV, B-1, C-lIl, D=1l

Options :

92090698201. 1
92090698202. 2
92090698203. 3
92090698204. 4

Question Number : 52 Question Id : 92090624854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During Rigvedic age, Ratnahavimshi was part of :
1. Vajapeya sacrifice
2. Soma consumption
3. Rajasuya sacrifice
4. Mandala

Options :

92090698205. 1
92090698206. 2
92090698207. 3
92090698208. 4

Question Number : 52 Question Id : 92090624854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIAfEH BT 7 TR FHBT HIT oT:
. AN Oy

. HHuH

. AEREA T

Had

T

Options :

92090698205. 1
92090698206. 2
92090698207. 3
92090698208. 4

Question Number : 53 Question Id : 92090624855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term for war in Rigveda is :
1. Dasyus
2. Gavishthi
3. Haoma
4. Bhurja

Options :

92090698209. 1
92090698210. 2
92090698211. 3
92090698212. 4

Question Number : 53 Question Id : 92090624855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁﬁﬁg@%ﬁ%%
1. a¥]
2. Tfafg
3. B

4. yd

Options :
92090698209. 1
92090698210. 2



92090698211. 3
92090698212. 4

Question Number : 54 Question Id : 92090624856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Due to the great famine in Magadha that lasted for 12 years, many Jainas
migrated to south under the leadership of:

1. Sthalabahu

2. Chadragupt Maurya

3. Siddhartha

4. Bhadrabahu

Options :

92090698213. 1
92090698214. 2
92090698215. 3
92090698216. 4

Question Number : 54 Question Id : 92090624856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I 12 9] db @ 90 HeH S@HId & BRUI, D] -0 3 590 Aqgd °
af&mr &I uar fdan
1. RITEE
2. A A
3. Rignd
4. Hadlg
Options :
92090698213. 1
92090698214, 2

92090698215. 3
92090698216. 4

Question Number : 55 Question Id : 92090624857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in correct chronolegical order:
Conquest of Kalinga by Ashoka.

The Maurya empire destroyed by Pushyamitra Shunga.
The Nandas of Magadha conquered Kalinga.

The Great wall of China was constructed.

mo N ® P

Steel objects found in mid-Gangetic plains.

Choose the correct answer from the options given below:
1. AAC D, BandE

2. B,D E CandA

3. (B A DandE

4. C A D EandB

Options :

92090698217. 1
92090698218. 2
92090698219. 3
92090698220. 4

Question Number : 55 Question Id : 92090624857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad &1 98 B HaHAR aiyd S
A. S GRI e St fderg

. Ui Q1 g R R H &1 A

C. WY & gl BI Hici & (i

D. HF &1 HEM SIdR o1 Aoy

E. Te TR A5 H 33010 &1 asgai &) uifed
Fafeiad el ¥ 3 Wel SvR &1 909 S
A, C,D BTYE

B,D,E,CdUlA

C,B A DTYUIE

C,A D EdYIB

2

BowoN e

Options :

92090698217. 1
92090698218. 2
92090698219. 3
92090698220. 4



Question Number : 56 Question Id : 92090624858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the Pre Mauryan times the village headmen were known by variety of
titles. Which of the following are correct?

A. Gramabhojaka

Gramparadhan

Gramini

Gramikas

moa®

Ayuktas

Choose the correct answer from the options given below:
1. A, BandC

2. A CandE

3. BDandE

4 A CandD

Options :

92090698221. 1
92090698222. 2
92090698223. 3
92090698224. 4

Question Number : 56 Question Id : 92090624858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gd &Tat & 98 & g o fafir Iuiitrt & s orar o1 Fefafea J 9
CAER: R R
A. TTHYISE
. UTH-UYH
I
Pl
. SIS
4 o T fawedl § @ wEt SR AT
1. Had A, BIYUIC
2. Had A, CTUTE
3. &ddB, DAYUE
4. PHdd A, CTYID

we]



Options :

92090698221. 1
92090698222. 2
92090698223. 3
92090698224 4

Question Number : 57 Question Id : 92090624859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Tamil tradition, where was third Sangam held?
1. Madurai
2. Korkai
3. Vanji
4. Tanjore
Options :
92090698225. 1
92090698226. 2

92090698227. 3
92090698228. 4

Question Number : 57 Question Id : 92090624859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHE YR & SFHR, R STH Fel g1 Ul

BEAH]
HRPs
GIGE]

RECIR

Options :

92090698225. 1
92090698226. 2
92090698227. 3
92090698228. 4

il B

Question Number : 58 Question Id : 92090624860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The capital of the Pandya kingdom was :
Badami

Vaigai

Tiruchirapalli

Madurai

-l

Options :

92090698229. 1
92090698230. 2
92090698231. 3
92090698232. 4

Question Number : 58 Question Id : 92090624860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUEE I T et
e

IR
IGEIECIE G

LS

Options :

92090698229. 1
92090698230. 2
92090698231. 3
92090698232. 4

il

Question Number : 59 Question Id : 92090624861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which inscription throws light on Kushana geneology?
1. Ujjain Inscription
2. Nasik Inscription
3. Rabatak Inscription
4.

Malwa Inscription

Options :

92090698233. 1
92090698234. 2
92090698235. 3



92090698236. 4

Question Number : 59 Question Id : 92090624861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 1 S HeRg PV G TR YT STadl 872
. T i
. A sferE
TETdE SHHEE
HTedT fHAE

Bow N e

Options :

92090698233. 1
92090698234. 2
92090698235. 3
92090698236. 4

Question Number : 60 Question Id : 92090624862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kautilya talks about strict control over markets and trade. Which of the
following official was in-charge of trade?
1. Shunyanivesha

2. Panyadhyasha
3. Sansthadhyaksha
4. Sutradhayaksha

Options :

92090698237. 1
92090698238. 2
92090698239. 3
92090698240. 4

Question Number : 60 Question Id : 92090624862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698237. 1
92090698238. 2
92090698239. 3
92090698240. 4

Question Number : 61 Question Id : 92090624863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bilingual, Greek-Aramanic inscription of Ashoka was found at
1. Kandhar
2. Peshawar
3. Mansehra
4. Girnar

Options :

92090698241. 1
92090698242. 2
92090698243. 3
92090698244. 4

Question Number : 61 Question Id : 92090624863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090698241. 1



92090698242. 2
92090698243. 3
92090698244. 4

Question Number : 62 Question Id : 92090624864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who refers to Shiva as a three-eyed God, bears the crescent moon on his
matted locks and had Uma as his consort?
1. Vima
2. Andal
3. Nakkirar
4. Akananuru

Options :

92090698245. 1
92090698246. 2
92090698247. 3
92090698248. 4

Question Number : 62 Question Id : 92090624864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698245. 1
92090698246. 2
92090698247. 3
92090698248. 4

Question Number : 63 Question Id : 92090624865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was an epigraphist to publish books on Ashoka and ancient Indian
Political Institutions?

1. P.V. Kane

2. D.R. Bhandarkar

3. Hemachandra Raychaudhuri

4. R.C. Majumdar

Options :

92090698249. 1
92090698250. 2
92090698251. 3
92090698252. 4

Question Number : 63 Question Id : 92090624865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RN IR IYT U YR Te-ifdd ST 0 YEdd UHIRd & drel
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1. @dL [

2. 8l 3R HSR&

3. gHdg g

4. 3R, 9. AgHER

Options :

92090698249. 1
92090698250. 2
92090698251. 3
92090698252. 4

Question Number : 64 Question Id : 92090624866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who questioned the wisdom of looking at ancient Indian from the modern
point of view?

1. A. L Basham

2. D.D. Kesambi

3. K. P.Jayaswal

4. V. A Smith



Options :

92090698253. 1
92090698254. 2
92090698255. 3
92090698256. 4

Question Number : 64 Question Id : 92090624866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. 3. 3l pramEt
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Options :

92090698253. 1
92090698254. 2
92090698255. 3
92090698256. 4

Question Number : 65 Question Id : 92090624867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:
A. Economic History of Ancient India is written by R. K. Chaudhary.
B. Origin and Development of Vaishnavism is authored by Suvira Jaiswal.
C. K. M. Panikar wrote Political History of Ancient India.
D. R. N. Nandi wrote Social Roots of Religion in Ancient India.
E. D.R. Chanana compiled Geographical factors in Indian History.
Choose the correct answer from the options given below:

1. A,BandD

2. A BandE

3. ACandE

4 B DandE

Options :
92090698257. 1
92090698258. 2



92090698259. 3
92090698260. 4

Question Number : 65 Question Id : 92090624867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698257. 1
92090698258. 2
92090698259. 3
92090698260. 4

Question Number : 66 Question Id : 92090624868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: In second century A. D. India produced two famous scholars of
Ayurveda.
Statement II: Sushrutasamhita lays special stress on diet and cleanliness.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :



92090698261. 1
92090698262. 2
92090698263. 3
92090698264. 4

Question Number : 66 Question Id : 92090624868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698261. 1
92090698262. 2
92090698263. 3
92090698264. 4

Question Number : 67 Question Id : 92090624869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As at most Mesolithic rock art sites, animals dominate the scenes at
Bhimbetka. How many species are depicted here?

1. 29 species

2. 11 species

3. 69 species

4. 41 species

Options :

92090698265. 1
92090698266. 2
92090698267. 3
92090698268. 4



Question Number : 67 Question Id : 92090624869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698265. 1
92090698266. 2
92090698267. 3
92090698268. 4

Question Number : 68 Question Id : 92090624870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is known as dhammachakka pavattana in Buddhism?
1. The Buddha wandered around teaching his doctrine.
2. The Buddha gave his first sermon on deliverance from suffering.
3. A young woman offering him (the Buddha) a bowl of milk-rice.
4. The Buddha's attainment of nibana.

Options :

92090698269. 1
92090698270. 2
92090698271. 3
92090698272. 4

Question Number : 68 Question Id : 92090624870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698269. 1
92090698270. 2
92090698271. 3
92090698272. 4

Question Number : 69 Question Id : 92090624871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In most of his edicts Ashoka is referred by two titles, Devanampiya and
Piyadasi. Versions of Minor Rock Edict-I contained the personal name of the
king — Ashoka, it was first found at :
1. Topara
Maski

2.
3. Lauriya-Nandangarh
4. Rampurva

Options :

92090698273. 1
92090698274. 2
92090698275. 3
92090698276. 4

Question Number : 69 Question Id : 92090624871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698273. 1
92090698274. 2
92090698275. 3
92090698276. 4

Question Number : 70 Question Id : 92090624872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List 1 with List II

LIST | [LisT 1

A. [Dhamma - Mahamatas |. |Related to women's welfare

B. |[Anta - Mahamatas ll. {Associated with city administration

C. [ittijhakka - Mahamatas lll. [Related to religion

D. [Nagalaviyahalaka - Mahamataq IV. [Related to the frontier areas
1. A-lll, B-1V, C-|, D-lI
2. A-lll, B-l, C-ll, D-IV
3. A-lll, B-IV, C-lI, D-
4. A-IV, B-ll, C-l, D-1lI

Options :

92090698277. 1
92090698278. 2
92090698279. 3
92090698280. 4

Question Number : 70 Question Id : 92090624872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-lll, B-IV, C-l, D-1I

2. A-ll, B-l, C-1l, D-IV

3. A-Il, B-IV, C-lI, D-|

4. A-lv, B-ll, C-1, D-1l
Options :

92090698277. 1
92090698278. 2
92090698279. 3
92090698280. 4

Question Number : 71 Question Id : 92090624873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Two kinds of states are included in the list of mahajanapadas -
monarchies (rajyas) and non-monarchical states known as ganas and
sanghas.
Statement Il: The ganas and sanghas were oligarchies, where power was
excercised by a group of people.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090698281. 1
92090698282. 2
92090698283. 3
92090698284. 4



Question Number : 71 Question Id : 92090624873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698281. 1
92090698282. 2
92090698283. 3
92090698284. 4

Question Number : 72 Question Id : 92090624874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Dipavamsa and Mahavamsa, how many years elapsed
between the Parinibbana (Buddha's death) and Ashoka's consecration?
1. 544
2. 218
3. 368
4, 254

Options :

92090698285. 1
92090698286. 2
92090698287. 3
92090698288. 4

Question Number : 72 Question Id : 92090624874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AR YT HEEY & HTHR, URFAET (G2 6 Jd) 94T 32d & TREY &
g fod- ol @1 v U

1. 544

2. 218

3. 368

4. 254

Options :

92090698285. 1
92090698286. 2
92090698287. 3
92090698288. 4

Question Number : 73 Question Id : 92090624875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

A. Gupta kings issued large number of gold coins.
These didn't bear the names and epithets of kings.
Some Gupta rulers also issued silver coins.

Copper coins of Gupta are rare.

mo N ®

Any image of any deity is not available on Gupta coins.
Choose the correct answer from the options given below:
1. B,Cand D
2. A DandE
3. A BandE
4 A CandD

Options :

92090698289. 1
92090698290. 2
92090698291. 3
92090698292. 4

Question Number : 73 Question Id : 92090624875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698289. 1
92090698290. 2
92090698291. 3
92090698292. 4

Question Number : 74 Question Id : 92090624876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The legendary hero living in Western India known as Krishna Vasudeva,
belonged to which tribe?

1. Vrishni
2. Bhoja
3. Kuru
4. Puru
Options :
92090698293. 1
92090698294. 2

92090698295. 3
92090698296. 4

Question Number : 74 Question Id : 92090624876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698293. 1
92090698294. 2
92090698295. 3
92090698296. 4

Question Number : 75 Question Id : 92090624877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order:

A. Final composition of the sangam literature.

B. Cultural and economic contact between the north and deep south
known as Tamizhakam.

C. The beginning of the megalithic culture.

D. Discovery of Monsoon.

E. The Cholas re-emerge as an important power.

Choose the correct answer from the options given below:
1. BBD.ACE
2. C,D AERB
3 B DB AE
4. EDBCA

Options :

92090698297. 1
92090698298. 2
92090698299. 3
92090698300. 4

Question Number : 75 Question Id : 92090624877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698297. 1
92090698298. 2
92090698299. 3
92090698300. 4

Question Number : 76 Question Id : 92090624878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:
A. Harsha sent a great army against Maukhari king.
B. Harsha began his reign in A. D. 606.
C. Harsha was unable to expand his power in Deccan.
D. Harsha was defeated by Pulakeshin II.
Choose the correct answer from the options given below:
1. A,BandC
2. BCandD
3. ACandD
4, A BandD

Options :

92090698301. 1
92090698302. 2
92090698303. 3
92090698304. 4



Question Number : 76 Question Id : 92090624878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698301. 1
92090698302. 2
92090698303. 3
92090698304. 4

Question Number : 77 Question Id : 92090624879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): There was reciprocal interaction between the elites of South,
Southeast and East Asia.
Reason (R): A trade mission was sent by Rajaraja Chola to China in 1018.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R} is NOT the correct explanation of
(A)
3. (A)is correct but (R) is not correct
(A) is not correct but (R) is correct

Options :
92090698305. 1
92090698306. 2



92090698307. 3
92090698308. 4

Question Number : 77 Question Id : 92090624879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698305. 1
92090698306. 2
92090698307. 3
92090698308. 4

Bow N

Question Number : 78 Question Id : 92090624880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List li:
List | List Il

A. [Buddhist missionaries sent to Srilanka| |. [56 A.D.
B. |[Earliest Indian settlement in Java. 1. 3 CB.C.
C. [The Kingdom of Kamboja founded. | Ill. [8""C A.D.
D. |Construction of Borobudur temple. | IV. |ﬁ'-hC A.D.

1. A-l, B-1l, C-lIl, D-IV

2. A-ll, B-IV, C-llI, D-I

3. A-ll, B-l, C-1V, D-llI

4. A-lll, B-1V, C-|, D-lI

Options :



92090698309. 1
92090698310. 2
92090698311. 3
92090698312. 4

Question Number : 78 Question Id : 92090624880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-l, B-lI, C-1l, D-1V
2. A-ll, B-IV, C-lll, D-|
3. A-ll, B-l, C-IV, D=
4. A-ll, B-Iv, C-I, D-II

Options :

92090698309. 1
92090698310. 2
92090698311. 3
92090698312. 4

Question Number : 79 Question Id : 92090624881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following was the Chinese traveller to visit Java?
1. H. Tsang
2. |. Tsang
3. Fa-hsien
4. Tun Huang

Options :

92090698313. 1
92090698314. 2
92090698315. 3
92090698316. 4



Question Number : 79 Question Id : 92090624881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698313. 1
92090698314. 2
92090698315. 3
92090698316. 4

Question Number : 80 Question Id : 92090624882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the
other is labelled as Reason (R):
Assertion (A): Voyages to South-east part of Asia were encouraged for
search of spices.
Reason (R): Legends about the origin of kingdoms in South-east Asia often
trace the story back to Indian princes and merchants.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of
(A)
3. (A)is correct but (R) is not correct
4. (A)is not correct but (R) is correct

Options :

92090698317. 1
92090698318. 2
92090698319. 3
92090698320. 4



Question Number : 80 Question Id : 92090624882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698317. 1
92090698318. 2
92090698319. 3
92090698320. 4

Question Number : 81 Question Id : 92090624883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct chronological order;
A. Die-stuck indo-Greek coins.
B. The Kshatarapa ruler Nahapana introduced a silver currency in Nasik
region.
C. Die-stuck coins.
D. Gold coins of Kushanas.
E. Well-executed die-stuck gold coins with metrical legends in Sanskrit.
Choose the correct answer from the options given below:
1. B,E A, DandC
2. C,A D BandE
3. DDE A BandC
4 EBACandD

Options :



92090698321. 1
92090698322. 2
92090698323. 3
92090698324. 4

Question Number : 81 Question Id : 92090624883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad &1 F1d AR Jayd Bife
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Options :

92090698321. 1
92090698322. 2
92090698323. 3
92090698324. 4

Question Number : 82 Question Id : 92090624884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The middle palaeolithic industry is located in central and
peninsular India.

Statement II: H. D. Sankalia first discovered the Nevasan industry.

In the light of the above statements, choose the correct answer from the
options given below:

Both Statement | and Statement Il are true

Both Statement | and Statement |l are false

Statement | is true but Statement |l is false

ol LR

Statement | is false but Statement Il is true

Options :

92090698325. 1
92090698326. 2
92090698327. 3
92090698328. 4

Question Number : 82 Question Id : 92090624884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698325. 1
92090698326. 2
92090698327. 3
92090698328. 4

Question Number : 83 Question Id : 92090624885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Gudiyam cave has yielded a sequence of lower, middle and
upper Palaeolithic tools.
Statement |I: Attirampakkam site was discovered in 1860.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090698329. 1
92090698330. 2
92090698331. 3
92090698332. 4

Question Number : 83 Question Id : 92090624885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Py feumue:
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Options :

92090698329. 1
92090698330. 2
92090698331. 3
92090698332. 4

Question Number : 84 Question Id : 92090624886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The earliest evidence of the demostication of animals in India is:
24000 BC

34000 BC

7000 BC

5000 BC

P 0 b A

Options :

92090698333. 1
92090698334. 2
92090698335. 3
92090698336. 4

Question Number : 84 Question Id : 92090624886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H 9 &1 Urag 891 & UrR=aH TH E -
24000 $91Qd
34000 S8 qd
7000 9T gd
5000 391 gd

Options :

92090698333. 1
92090698334. 2
92090698335. 3
92090698336. 4

e e

Question Number : 85 Question Id : 92090624887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following was a center of stone tool manufacture?
Gudiyam cave

Adamagarh hill

Bhimbetaka

lsampur

o By e

Options :
92090698337. 1



92090698338. 2
92090698339. 3
92090698340. 4

Question Number : 85 Question Id : 92090624887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698337. 1
92090698338. 2
92090698339. 3
92090698340. 4

Question Number : 86 Question Id : 92090624888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: During Gupta period, sculpture reached its highest
development.
Statement II: The Gupta period (fourth to the fifth centuries) was truly
classic period of Indian art.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement Il is correct

Options :

92090698341. 1
92090698342. 2
92090698343. 3
92090698344. 4



Question Number : 86 Question Id : 92090624888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698341. 1
92090698342. 2
92090698343. 3
92090698344. 4

Question Number : 87 Question Id : 92090624889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronclogical order :

Girl carrying a plate of food (Mathura).
Terracotta mother-goddess from Mohenjodaro.
Ganga mounted on a Makara (Orissa).

Gandhara receiving ganga on his locks (Tiruchirapalli).

monNn®m >

Ganga under the wish-fulfilling tree (Bengal).
Choose the correct answer from the options given below:
1. A B, D CandE
2. B,C D AandE
3. BA D CandE
4 B A CDandE
Options :
92090698345. 1

92090698346. 2
92090698347. 3



92090698348. 4

Question Number : 87 Question Id : 92090624889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698345. 1
92090698346. 2
92090698347. 3
92090698348. 4

Question Number : 88 Question Id : 92090624890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements :

A. The Tiruvellarai inscription of Dantivarman offers a fine example of early
Tamil.

B. The most beautiful Chola script dates from end of 9" century.

C. Rajendra Chola's Tiruvalangadu plates show the typical eleventh century
Chola script.

D. The earliest tamil script is at Kailasanatha

E. Vijayanagar inscription show the final stage of Tamil script.

Choose the correct answer from the options given below:
1. A Band Conly
2. A Cand D only
3. A Cand Eonly
4. B,Dand E only

Options :

92090698349. 1
92090698350. 2
92090698351. 3
92090698352. 4

Question Number : 88 Question Id : 92090624890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Y1 &l UggH Hifde:
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Options :

92090698349. 1
92090698350. 2
92090698351. 3



92090698352. 4

Question Number : 89 Question Id : 92090624891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word Upanishad literally means :
1. To sit near someone
2. To preach
3. The higher
4. To liberate

Options :

92090698353. 1
92090698354. 2
92090698355. 3
92090698356. 4

Question Number : 89 Question Id : 92090624891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698353. 1
92090698354. 2
92090698355. 3
92090698356. 4

Question Number : 90 Question Id : 92090624892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Jaina monastic establishments are called :
Vihara

Mandal

Basadis

Matha

P 2 B oA

Options :

92090698357. 1
92090698358. 2
92090698359. 3
92090698360. 4

Question Number : 90 Question Id : 92090624892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698357. 1
92090698358. 2
92090698359. 3
92090698360. 4

Question Number : 91 Question Id : 92090624893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements:
A. The works of Kalidasa, Bhavabhuti and Bana are indispensable aids for
comprehending artistic iconography.
B. Sanskrit language can't be used to interpret art.
C. Mayamata helps to illuminate Indian art.
D. Sangitaratnakara helps to understand Indian art.
Choose the correct answer from the options given below:
1. A, BandC
2. A Cand D
3. BCand D
4 A BandD
Options :
92090698361. 1
92090698362 2

92090698363. 3
92090698364. 4

Question Number : 91 Question Id : 92090624893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698361. 1
92090698362. 2
92090698363. 3
92090698364. 4



Question Number : 92 Question Id : 92090624894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:
A. The terms nishka and satamana are taken to be names of coins.
B. The earliest coins were made largely of silver.
C. Coins are called punch-marked because they were punched with certain
marks.
D. In Mauryan times only cast coins were used.
E. The earliest hoards of coins have been found in Gujarat and Rajasthan.
Choose the correct answer from the options given below:
1. A,BandC
2. A, Cand D
3. C,DandE
4. B CandE

Options :

92090698365. 1
92090698366. 2
92090698367. 3
92090698368. 4

Question Number : 92 Question Id : 92090624894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090698365. 1



92090698366. 2
92090698367. 3
92090698368. 4

Question Number : 93 Question Id : 92090624895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The seven-hooded naga image was found at
Mathura

Rajagriha

Ujjain

P G ok A

Pawaya

Options :

92090698369. 1
92090698370. 2
92090698371. 3
92090698372. 4

Question Number : 93 Question Id : 92090624895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698369. 1
92090698370. 2
92090698371. 3
92090698372. 4

Question Number : 94 Question Id : 92090624896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following was a premier port of Chera kingdom?
Karuvur

Puhar

Tondi

Korkai

dacdar B -

Options :

92090698373. 1
92090698374. 2
92090698375. 3
92090698376. 4

Question Number : 94 Question Id : 92090624896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698373. 1
92090698374. 2
92090698375. 3
92090698376. 4
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Question Number : 95 Question Id : 92090624897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Satavahana empire was divided into a number of large administrative
divisions known as :
1. Maharathi
2. Mahabhojas
3. Aharas
4. Khanda

Options :
92090698377. 1



92090698378. 2
92090698379. 3
92090698380. 4

Question Number : 95 Question Id : 92090624897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698377. 1
92090698378. 2
92090698379. 3
92090698380. 4

Question Number : 96 Question Id : 92090624898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Puranas, who was the last Shunga ruler?
1. Vasudev
2. Antialkidas
3. Bhagavata
4. Devabhuti

Options :

92090698381. 1
92090698382. 2
92090698383. 3
92090698384. 4

Question Number : 96 Question Id : 92090624898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698381. 1
92090698382. 2
92090698383. 3
92090698384. 4

Question Number : 97 Question Id : 92090624899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which text describes Chandragupta as son of the daughter of a chief of a
village of peacock tamers (mayura-poshakas)?

1. Mahavamsa

2. Digha Nikaya

3. Parishishtaparvan

4. Mudrarakshasa

Options :

92090698385. 1
92090698386. 2
92090698387. 3
92090698388. 4

Question Number : 97 Question Id : 92090624899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090698385. 1
92090698386. 2
92090698387. 3
92090698388. 4

Question Number : 98 Question Id : 92090624900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the lowest category of animals and plants as per
the Jaina doctrine?
1. Tiryancha
2. Nigodas
3. Naraki
4. Sthavara
Options :
92090698389. 1
92090698390. 2

92090698391. 3
92090698392. 4

Question Number : 98 Question Id : 92090624900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698389. 1
92090698390. 2
92090698391. 3
92090698392. 4

Question Number : 99 Question Id : 92090624901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a Puranic epithet of Shiva?
Gangadhara

Ardhanarishvara

Shankara

Rudra

oo

Options :

92090698393. 1
92090698394. 2
92090698395. 3
92090698396. 4

Question Number : 99 Question Id : 92090624901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090698393. 1
92090698394. 2
92090698395. 3
92090698396. 4

Question Number : 100 Question Id : 92090624902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Vedic Age, a gestation rite was called:
1. Jaya
2. Samskara
3. Pumsavana
4. Yosha

Options :
92090698397. 1
92090698398. 2



92090698399. 3
92090698400. 4

Question Number : 100 Question Id : 92090624902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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